TO:

FRANKLIN COUNTY TREASURER

FROM: FRANKLIN COUNTY CLERK

NOVEMBER, 2024

RE:

The following fees were received from the Franklin County Clerk during the month of November 1, 2024. As per the Revised Illinois State Statutes, the fees were submitted to the Franklin County Treasurer.

Recording & Filing Fees		23,850.00
Less: Document Storage \$ 2.86 per instrument x 384 docs	1,098.24	
Less: Automation Fund \$ 6.54 per instrument x 384 docs	2,511.36	
Less: GIS \$21.69 per instrument	8,286.69	
Sub-Total for Recording & Filing Fees		11,953.71
RHSP - IDOR \$18.00 per instrument fee		5,598.00
Real Estate Stamps		7,638.00
Assumed Name		81.00
Cert Birth, Marriage, Death & Rec.		2,446.00
Copy Services		1,932.50
Fax Fee		22.00
Marriage Licenses / Civil Union		1,000.00
Miscellaneous		108.00
Tax Deed Fee		10.00
Real Estate Tax Redemption Fee @ \$73 ea. (30)		2,190.00
Mobile Home Tax Redemption Fee @ \$73 ea. (2)		146.00
Cash Drawer		0.00
Vital Records Cert Death Record: $11 \times 4 = 44$ fee acct	t chack#1637	(44.00)
Marriage Families Domestic Violence Fund: $20 \times 5 = 100$ fee		(100.00)
IDOR - Rental Housing Support Program Fund: $311 \times 18 = 5.5$		(5,598.00)
IDOR - MyDec state's part of revenue stamps: 4,709 e.f. trans,		(4,709.00)
01-341: County Clerk Fees		\$22,674.21

TO:

FRANKLIN COUNTY TREASURER

FROM:

FRANKLIN COUNTY CLERK

RE:

NOVEMBER, 2024

19-371.000 - Document Storage \$ 2.86 per instrument 19-372.000 - Automation Fund \$ 6.54 per instrument	1,098.24 2,511.36
59-352.000 - GIS \$21.69 per instrument	8,286.69
59-352.002 - Approval of Legal Description	150.00
01-322.000 - Liquor License	0.00
01-341.009 - Researchers - Laredo Copies	425.00
01-341.009 - Researchers - Tapestry Copies	1,225.25
01-341.010 - Researchers - Laredo Subscription	1,660.65
01-362.000 - Franchise Fee	1,265.50

Sub-Total:

\$39,296.90

01-361: Interest Accrued for November, 2024

Fee Account \$185.81 Tax Redemption \$757.70

TOTAL RECEIVED BY THE COUNTY CLERK

\$40,240.41

Fee Account - Check #1639 \$37,146.71 Tax Account - Check #5637 \$3,093.70

TOTAL FEES SUBMITTED DECEMBER, 2024 TO THE FRANKLIN COUNTY TREASURER -

\$40,240.41

Acministrative Director Teri Conaway (618) 435-9955 Chief Deputy Kevin Roye (618) 435-9958

Patrol Supervisors
Lt. Jared Anthis
(618) 435-9957
Lt. Paul Uraski
(618)435-9966

Detective Supervisor Capt. Amy Tipton (618) 435-9950

# ★ Kyle S. Bacon ★ SHERIFF OF FRANKLIN COUNTY

403 E Main Street ★ Benton, IL 62812 Emergency 911 Non emergency (618) 438-4841 FAX (618-435-3516 Tip Line (618) 439-9252 Capt. Marie Johnson (618) 435-9943 Dispatch Supervisor Jason Knowles/Katie Shaffer (618) 435-9952 Records/Jail Admin. Assist. Dava Vice (618) 435-9954 Civil Process Lanette Fleming (618) 435-9953

Jail Administrator

Year End 2024 Sheriff's Report - Patrol / Corrections

December 1, 2023 - December 1, 2024

Patrol Activity - FY 2024:

- \* Traffic Stops 561
- \* Citations Issued 455
- \* DUI Arrests 31

#### Calls for Service:

- \* Crashes 338
- \* Burglary 53
- \* Theft 155
- \* Violation of Order of Protection 80
- \* Domestic Violence 278
- \* Sex Offense Related Cases 30

Total Deputy Reports Generated on Calls for Service: 2,721

Total Criminal Arrests: 348
Total Warrant Arrests: 272

### Jail Activity - FY 2024:

- \* Average Daily Population 65
- \* Total Jail Intakes 466 Females / 1198 Males (Total 1,664)
- \* Total Meals Served 71,175
- \* Total Healthcare Expense \$186,139.77

Administrative Director Teri Conaway (618) 435-9955 Chief Deputy Kevin Roye (618) 435-9958

Patrol Supervisors Lt. Jared Anthis (618) 435-9957 Lt. Paul Uraski (618)435-9966

Detective Supervisor Capt. Amy Tipton (618) 435-9950

# ★ Kyle S. Bacon ★ SHERIFF OF FRANKLIN COUNTY

403 E Main Street ★ Benton, IL 62812 Emergency 911 Non emergency (618) 438-4841 FAX (618-435-3516 Tip Line (618) 439-9252 Capt. Marie Johnson (618) 435-9943 Dispatch Supervisor Jason Knowles/Katie Shaffer (618) 435-9952 Records/Jail Admin. Assist. Dava Vice (618) 435-9954 Civil Process Lanette Fleming (618) 435-9953

Jail Administrator

#### Year End 2024 Sheriff's Report - Financial

- \* Generated Revenue (Sheriff Sales / Process Fees / Report Fees) \$65,519.08
- \* Federal Inmate Holding \$237,450.00
- \* Federal Inmate Transportation \$12,020.81
- \* Inmate Booking Fees \$7,802.81
- \* School Resource Deputy District Reimbursement \$73,979.50
- \* Sheriff Salary Reimbursement \$115,712.56
- \* State of IL Training Reimbursement \$20,211.00
- \* Opioid Funds (used) \$131,807.12
- \* Total Grant Funds Received \$123,950.00
- \* Rend Lake Patrol \$35,440.32
- \* IDOT Hire Back Campaign \$14,573.29

- \*Grant Funded Projects (Full and Partial):
  - Inmate Iris Scanner (\$30,000.00 Grant Funded)
  - Roup Online Sheriffs Sale Platform (Public User Funded)
  - Tek84 Body Scanner (\$141,500.00 Partial Grant / Opioid / ARPA Funding)
  - Guardian RFID Inmate Management Software (\$25,000.00 Commissary Fund)
  - Qiucket E-Citation Software (\$45,000.00 Grant in Process)
  - K9 Ballistic Vest (\$1,700.00 Grant Funded)
  - K9 First Aid and Narcan Kit (\$250.00 Grant Funded)
  - Grainger Equipment (\$37,000.00 Grant Funded)

2024 Budget Usage:

Budgeted Amount - \$3,541,850.00

Paid Expenses - \$3,648,134.19 (103%)

Generated Revenue - \$838,466.49



### **Franklin County Coroner**

County of Franklin, Illinois

407 East Washington Street Benton, Illinois 62812 618-439-6850 Fax (618) 200-4218 marty.leffler@franklincountyil.gov

Marty P. Leffler Coroner

John Owens Chief Deputy Coroner

November 2024

November case total = 21

Annual total through November 30, 2024 =281

12 females @ an average age of 74.08 years of age

9 males @ an average age of 77.56 years of age

10 out of 21 cases were on scene investigations

Transported by coroner 2

Autopsies 0

Cremations 16@ \$100 per permit = \$1600

7 deaths between 10:00 p.m. and 7:00 a.m.

8 weekend and 1 holiday deaths

10 Cancer Deaths/5 Cardiac related deaths

Deaths per day of the week Monday 3, Tuesday 3, Wednesday 2, Thursday 1, Friday 4, Saturday 6, Sunday 2.

Deaths by residence town: 8 West Frankfort, 3 Benton, 3 Sesser, 2 Carterville, 2 T'Ville, 2 Valier, 1 Buckner

Coroner Cases

Time Age Place 3:30 a.m. 80M Res.Hos
9:26 a.m. 83F N.H./Hosp. USPCM
10:23 a.m. 91F Hosp/Hosp Pneumonia
11:21 a.m. 68F Res. Hosp Breast CA
3:40 p.m. 82F Res.Hosp Breast CA
9:25 p.m. 77F N.H./Hosp. SDB/Dem
4:07 p.m. 57F Res.Hosp Vulva CA
11:15 a.m. 79M Res.Hosp SDB/Dem
72M
12:14 a.m. 72F Res.Hosp Breast CA
9:49 a.m. 65M Residence Cardiac
10:00 a.m. 78M ER Cardiac
11:43 a.m. 64F Res.Hosp Lung CA
11:20 p.m. 75F Res.Hosp COPD
6:40 p.m. 83M Res.Hosp Myeloma
6:00 a.m. 85M Res.Hosp Colon CA
5:00 a.m. 65F Res.Hosp PancreasCA
4:57 a.m. 84M N.H./Hosp. Cardiac
4:31 p.m. 89F ER Cardiac
7:00 a.m. 66F Res.Hosp Lung CA